SR6EE | BITEF = (BEH A)

e & 31 B #7 o AR
2#l %) g e 2R RFAE | 2%F 3F e | TR ISCC-:r
| |7K|TtH
2 | K|&LFEHKR%EB
3 | & |&FK¥EE
4 | £
5 | B
6 | B |&£FK%H
= [T K| ZFREH
i gE| 8 | K|[®EKX ;gf‘t #L | 12:20
# 9 [ K|[KI234 iif‘t £ |13:40
10 | & 50x6 HI-FRTvTT7VTRE B BF R 2 £ | 15:50
[ =
12| B
13| A [RADB
Z+ AL =2 A==
" 14 |k %;f;gﬁﬁéﬁﬁ(’ﬁ 50x6 2 | 1540 sc
[ 15 | K[BELZH 50x5 2 |10 1cT
16 | K INOLZENOERET — | 50x6 ©H % % | 15:40
|7 | & |FhSEREEESNAR 50x6 2 |15:40
18 | £
19 | B
2 gl s
20 | A 50x6 ggﬁfﬂifxyl\% & | 1540
" 21 | K 50x6 % | 15:40 Ié:CT
\’éf BL 22 | K 50x5 % | 14:40
g [23 & 50x6 G 2 |[15:40
MANEREZEGRS —
24 | & |8 s 50x6 @ggf_'h%';jf 2 | 1540
£145236 2 -
25 | £
26 | H
27 | B 50x6 % | 15:40]| 1CT
o ] SC
28 | K 50%6 2 [Isw0| S-
ORI FB EqT ]
@ | 4 29 [ K 50x5 s (AB &) % | 14:40
30 | & 50x6 RINEE @7 |=3% g?ﬁ)
ORI FBER
% |4 x6 : 2 |isw40| 1CT
31 | & |&623451 50 N T
[2ADITEFE]
3B (A)~138 (K)&HK&EMEH% 188 (k) ~208 (K) | - 2FHEEFERT A
38 (B) &£ #84L 188 (k) - 198 ()K) 232 A A&
48 (K)3FELEFFEEXRTRE 268 (K) 24 EMEES

68 (K) AESFHNEFPS
10B (A) - 118 (K)RZEAH XIEENEVTHA ) L BENSLEET,




